INTERMEDIATE EXAMINATION-2025
ge]HISUC TRIET—2025
( ANNUAL / 91 )

GEOGRAPHY ( ELECTIVE )

e (e )

I.A. ( Theory / IS)kafrd )

B T 1 7042046 = 96 fava drs: | 354
Total Questions : 70+20+6 = 96 Subject Code:
(T3 : 3 €< 15 fiMe) (gt :100)
[Time : 3 Hours 15 Minutes] [Full Marks:100]

Instructions for the candidates:

. G¥IErRff OMR STv—9F% Gv 397 597 GRa®dT HHIH (10 Sdl P1) 5999
ferdd |

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the

OMR Answer Sheet.
. goereff goreya 39 el d & gV &/

Candidates are required to give their answers in their own words as far as
practicable.

. I 3TV TR T¥ /Y §V 3@ g [AfdT @va &/

Figures in the right hand margin indicate full marks.

. JFT Bl YEE ggT & [ery eIl @i 15 [A9S @1 A aqT @97

T 8/

15 minutes of extra time have been allotted for the candidates to read the

questions carefully.

. T FI7 YRaaT & @Usl ¥ 8 - @S- U9 GUe—§

This Question booklet divided into two sections- SECTION-A and
SECTION-B.
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6. GUS—3 ¥ 70 JvGITG T & for7H & 5] 35 G 7 FAY &7 Jard 8/ 35 e
¥ 3iE)E BT TN G UV FoIH 35 T & HodIdbT BT Fedd 97 @& [or7 1 3 [T
&/ §TPT FTX T7 @ [o77 SYTE FHYrd T TY OMR STv—9F% 7 [3V T wel [Adey
@I et /Bl il U7 F TG BV [¥] H GBIV P FIgeav,/ Vel yarel /&S, TegT
31f& BT OMR STv—GF% H FIIT BT T &, ST GO GRUTH S &7/

In SECTION- A, there are 70 objective type questions, out of which any 35
questions are to be answered. If more than 35 questions are answered, then
only first 35 answers will be evaluated. Each question carries 1 mark. For
answering these darken the circle with blue/ black ball pen against the correct
option on OMR Answer sheet provided to you. Do not use Whitener

/Liquid/Blade/Nail etc. on OMR Answer Sheet, otherwise the result will be

invalid.

7. @S~ § H 20 TYITHIT FOT &/ FAFT & 79 2 HF [FIIRT &1 forrH
&8 10 7o @ GV & AT & §H SANFT §9 &UE H 06 FH
TG 7eT RV 1Y & god & fory 05 @ R & o & T 03
el & GV &7 Sard &/

In SECTION- B, there are 20 Short Answer Type Questions, Each question
carrying 2 marks, out of which any 10 questions are to be answered. Apart
from these, there are 06 Long Answer Type Questions, each carrying 5 marks,

out of which any 3 questions are to be answered.

8. 1 g B FAaeiie FYBNT BT FINT qUTAT dfoid &/

Use of any electronic appliances is strictly prohibited.
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Yus — 3/ SECTION-A
&I U3 / Objective Type Questions

go7 §egr 1 § 70 A% & FIT & G TV [@hey 179 73 & [or7H & v wel
8/ 58T 35 7o) & GV 397 gRT g7 TV FE) [dBey # OMR 3T g%
farfeTa &Y/ 35x 1 =35

Questions nos. I to 70 have four options, out of which only one is correct. Answer

any 35 questions. You have to mark your selected option on the OMR-sheet.

35x1=35
1. F=faRad § & @9 99 Piie & ST 572
(A) &g fafrTa (B) Y& TTe
(C) 3r=ayvr g quiq (D) S8 9 9+l

Which of the following is an approach to Human geography?

(A) Areal differentiation (B) Spatial organisation

(C) Exploration and description (D) All of these

2. =T WA AMG T & [ & | Hefed g7

(A) MEISTD el (B) XTSIl Tl
(C) =R el (D)  3mfdieh et

Military geography is related to which field of Human geography?

(A) Social geography (B) Political geography
(C) Urban geography (D) Economic geography
3. By §ERd
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(A) w¥HdarE A (B) freggare W
(C) HAMqdmare A (D) ST & BIS TR

Febvre is associated with:

(A) Possibilism (B) Determinism
(C) Humanism (D) None of these
| Prefoad eI ¥ <1 R SRiEn 9fy @) qdife 87
(A) TRmm (B) TWU
(C) I (D) <R aERaer

Which of the following continents has the highest growth rate of

population?
(A) Asia (B) Europe
(C) Africa (D) South America

. S8 DI FUAdHE STEET g9d dTelT & 87
(A) fvr—gd TR (B) uf¥=rel IRy
(C) TR—gd I 3FRBT (D) <feror—uf¥=EH arflhar

Which of these has the highest density of popular?
(A) South-East Asia (B)  Western Europe

(C) North-East North America (D) South-West Africa

. ST fIaRT BT JATad R aTell Tkl AeedqYl HRP Hid o7
(A) -emgpfa (B) fael
(C) Sitary (D) S8 9 9
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Which is the important factor influencing the distribution of population?
(A) Landforms (B) Soil
(C) Climate (D) All of these
7. Freferaa dui 3 & et R Wi & ?
(A) HRT (B) @
(C) <mu= (D) <fcfaar
Which of the following countries has the highest sex ratio?
(A) India (B) China
(C) Japan (D) Latvia

8. f=forRaa <o & fohad ug—~Tdr & Wi &7 A9 /=1 797 27

(A) ¥Rd (B)  Simar

(©) e (D) =4

In which of the following countries happiness is considered as the
measurement of progress?

(A) India (B) Japan

(C) Bhutan (D) Russia

9. JAP—TeT MORIFTE &1 A= &

(A) T3V UG dAfgar Saea | (B) SINIET UG ¥

(C) SVER=T AerRar | (D) T 9 P T8l

Age-sex pyramid is associated with:

(A) Male and female population (B) Density of population
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(C) Literacy of population (D) None of these

1041 & & &1 Tha HiY &1 I@TE 22
(A) Dol (B) dX
(©) &8 (D) W | 9@

Which of the following is a product of monoculture?
(A) Banana (B) Tea

(C) Rubber (D) All of these

11. 791 5 9§ 319 wafie fharedy | S fad &7
(A) P (B) arfar
(C) mue (D) T & &
Which of the following is associated with primary activity?
(A) Agriculture (B) Forestry
(C) Hunting (D)  All of these
12358 fra—TaR @ Y Iuot 87
(A) Al piy (B) wifRyes el iy
(C) Nuur By (D) HHANTEA HiY

Rubber is the product of which type of farming?

(A) Mixed Farming (B) Primitive sedentary
Farming
(C) Plantation Farming (D) Mediterranean Farming

13.fF=faRaa & fhd da—aed Y W Hed 8°
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(A) 9ud fate oY (B) anfeH fafs oY
(C) fawga arforsy oSl By (D) faf3ra ofy

Which among the following is also called slash burn agriculture?

(A) Intensive subsistence (B) Primitive subsistence
fawning farming
(C) Extensive commercial (D) Mixed farming

grain farming

14.f0%gd @aiRe AG— IdTEd PV T8l I Sl o
(A) wH & H (B) 3o R

(€©) ST &= H (D) v &
Extensive commercial grain farming is not practised in:
(A) Pampas (B) Amazon basin
(C) Prairies (D) Steppes
155750 & PIBI &3 PI HeT S o
(A) oIS (B) =
(C) faem (D) =TT
The coffee region of Brazil is called:
(A) Fazenda (B) Jhum
(C) Milpa (D) Ladang
16. F=foiRaa § | &9 U1 HY w1 IE T8l 2°

(A) =g (B) DIt
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(C) w=m (D) 7§
Which of the following is not a product of plantation farming?
(A) Tea (B) Coffee

(C) Sugarcane (D) Wheat

17. 399 ¥ B9 elifedsd Wiael IR a8
(A) dfar ST (B) vgMfEE SErT
(C) e Sam (D) STH 9 DI A8l

Which of these is based on non-metallic mineral?

(A) Copper industry (B)  Aluminium industry
(C) Cement industry (D) None of these
18. 9f¥feH Pal 27
(A) =rd (B) I fgw
(C) < (D) Wi

Where is Birmingham?

(A) Norway (B)  Great Britain

(C) Germany (D) France
19.fF=fRaa @ o iElfe eIl &1 THE HRE &7

(A) gof (B) dOIR

(O] (D) & ¥ Wl

Which of the following is the main factor of industrial location?

(A) Capital (B) Market
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©

Energy

(D) All of these

20.9%d TR dTel YU | FHRId fohaTdhetdi bl H-T Sl &:

(A)

©

IERIRERERICISIE
UgH fohardmerrg

(B) =g feharamer

(D) ST & BIS T

Activities related to high level of innovation are called

(A)

©

21.fr=foRad & & @9 o fhamt 9 awfr 87

(A)

©

Secondary activities

Quinary activities

el
RELN

(B) Quaternary activities

(D) None of these

(B) 3ME<
(D)  URTHEETETAT

Which of the following is associated with quinary activities?

(A)

©

Farming

Services

(B) Hunting

(D) Consultants

22 for=farRad o oI URIRTT BlelR & 3T 8] 87

(A)

©

oflel

et

Which of the following is not the colour of occupational collar?

(A)

©

23 fa=ferfad # o9 $fY mrRa e 87

(A)

Red

Blue

JHe SEnrT

(B) relt
(D) e
(B) Black
(D) Pink

(B) oliEl 3R g ST
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(C) S T (D) THST SN
Which of the following is an agro based industry?
(A) Cement industry (B) Iron and steel industry

(C)  Jute industry (D) Leather industry

24, HIex U YT oflg b1 drsls fhd gl 87

(A) 16 HIeX (B) 1.7 HIex
(C) 15 "R (D) ST 9 DI A8l

What is the width of metre gauge rail line?

(A) 1.6m (B) 1.7m

(C) 15m (D) None of these
25.74% g9 wefda 2?

(A) ¥ A (B) argemt

(C) et & (D) UIEUlET W

The Big inch is related to:

(A) Railway (B) Airway

(C) Waterway (D) Pipeline
26.79%9 & W A U EfoiRad § 69 geR @ 87

(A) AT TR (B) o H

(C) fawga wer (D) 3ienfre

World's main sea ports belong to which of the following types?

(A) Naval ports (B) Oil ports
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(C) Comprehensive port (D) Industrial port

27. SI—ABTEINRI ¥Rl HeT N ST & |
(A) daBaR BT Ae S | (B) SifdT & Aefa ¥

(C) TsHrEA Bl ThRS (D) TS Bl TR A

The Trans-continental Stuart Highway connects:

(A) Vancouver with St. John (B) Darwin with Melbourne

(C) Edmonton with Anchorage (D) Chengdu with Lhasa
28. R gfvsyr gH=fAG &

(A) Sce | (B) SUUE 9

(C) wEmH | (D) drg ®Ff ¥

Air India is associated with:
(A) Internet (B) Satellite
(C) Highway (D) Airway

29. fa%g SFUR HTed (WTO) @1 A9 & 8s ?
(A) 1948 (B) 1995
(C©) 2000 (D) 2005
When was the World Trade Organisation (WTO) established?
(A) 1948 (B) 1995

(C) 2000 (D) 2005

30.371Ud (SRATSSIeM AT ULl TaUIfc helel) Bl JATH dal o7

(A)  fag=m (B) Sidrdl
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(€) & (D)

Sirar

Where is the headquarters of OPEC (Organisation of Petroleum

Exporting countries)?
(A) Vienna (B)
(C) Hanoi (D)
31.9RT e ©
(A) ST9ET BT (B)
(C) oREmM™ & (D)
India is a member of :
(A) SAFTA (B)

(C) ASEAN (D)

32,37 Q¥ & WeF AR el &
(A) 3fa<ei¥ AR (B)
(C) I AR (D)
Trade between two countries is termed as:-
(A) Internal Trade (B)
(C) Local Trade (D)

33. 9sd & U8R fbd ufoey &7 gt e g ?

(A) TSR (B)
(©) @ (D)

Jakarta

Geneva

A s S BT
3D BT

OECD

OPEC

BIIEIN

JFARTET AR

External Trade

International Trade

ST

Which pattern of settlement is found along a road?
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(A) Circular (B) Rectangular
(C) Linear (D) Terraced
34, TR e 1 YN fpae fopar ofr?
(A) fgs ffss (B) fifter e
(C) fearf (D) S e
Who had coined the Word Conurbation?
(A) Patrick Geddes (B)  Griffith Taylor
(C) Trewartha (D) Jean Gottman
35. faferas RIS 9 SeeAET B B
(A) TS G F BH (B) UM &g A &H
(C) <\ ™ ¥ s (D) < oG § BH
The population of million city is:
(A) Less than one Lac (B) Less than five lacs

(C) More than ten lacs (D) Less than ten lacs

36.f5g TS URIR B IR H ST 99 HH 27

(A) wfas (B) WRdR — R
(C) Ari—fiech (D) <Rg®

Which linguistic family has the lowest population in India?

(A) Dravidian (B) Indo-European

(C) Sino-Tibetan (D) Austric
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37.2011 &I SIOFT & IR, FefoRad i # 9 fhaa S=van &1
o<d 99d $H B°
(A) 3 (B) 3TOUEd Q¥
(C) fafamn (D) fooIRA
According to census 2011, which of the following states has the lowest
density of population?
(A) Assam (B) Arunachal Pradesh

(C) Sikkim (D) Mizoram

38.2011 @ SIFOMT & JATAR ARA H SIGEIT BT &8 o |
(A) 810 &fkh / o fHHY. (B) 382 &fth / ¥ foe.
(C) 282 afs / a7 famil. (D) 362 @fh / a7 faHl.
According to 2011 census the density of population in India is:
(A) 810 persons / sq. km. (B) 382 persons / sq. km.
(C) 282 persons / sq.km. (D) 362 persons / sq.km.
39.9Ra H ST BT "HEM fA9TSTh” Y BIF 87
(A) 1951 (B) 1931
(©) 1921 (D) 1971
Which year is the "great divide" in Indian census?
(A) 1951 (B) 1731
(©) 1921 (D) 1971

40.Fr=forRea ral | fA®T 0—6 oMy ot H f=aH © ?

Page 14 of 27



(A) gRamn (B) ToRIA
(C) Uomd (D) feaTeret wewr

Which of the following states has the lowest sex ratio in the age-group of

0-6 years?
(A) Haryana (B) Gujarat
(C) Punjab (D) Himachal Pradesh

41.2011 T STTUET & AR FfeIRad ol § 9§ fhad TR STsiRe
T 37U |aAf® g ?
(A)  dfirerrg (B) WERTE
(C) T (D) &
Which of the following states has the highest proportion of urban
population according to 2011 census?
(A) Tamil Nadu (B) Maharashtra

(©) Goa (D) Kerala

42 A9 [IH™ Gadie H 9Rd & FrEfeRad Il § 4 6 31 dife

IIdH 87
(A) @R (B) tHom@
(C) dferrg (D) sRam

Which of the following States of India has the highest rank of Human
Development Index?

(A) Kerala (B) Punjab
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(C) Tamil Nadu
43. R &

(A) NS TR

(C) Wead TR

Singareni s :

(A) Capital town

(C) Tourist town

(D)

(B)
(D)

(B)
(D)

Haryana

Y X

T 9§ BIg T

Mining town

None of these

44 §oolEs Uoel H fhE gdHR &I grier IRl 9l St 87

(A) Yool Rl
(C) dfaarot sRaat

(B)
(D)

Tfeed aRaat
T |

Which types of rural settlement found in Bundelkhand region?

(A) Hamleted settlements

(C) Dispersed settlement

45 MRTIETE Udh SETE &
(A) U TR &1
(©) 3y Th TR BT

Ghaziabad is an example of:

(A) Ancient town

(C) Modern town

(B)
(D)

(B)
(D)

(B)
(D)

Clustered settlements

All of these

qegdhTold TR &l

I TR B

Medieval town

Satellite town

46.9Rd § IS STERT dTelT AT T BiF 27

(A) q=g

(B)

fereett
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(C)  PraApra (D) ==~
Which megalopolis has the highest population in India?
(A) Mumbai (B) Delhi
(C) Kolkata (D) Chennai

47 fa=fafad § &9 -—SuarT dait T8 87

(A) o=t g (B) fraer qram &=

(C) <ma 4 iy (D) ama =t 9

Which of the following is not a land use category?

(A) Fallow land (B) Netsown area

(C) Marginal land (D) Cultivable waste land

48 ffafad @ &F YRGB & THART 87
(A) 9 SrEEar (B) frafsa sid
(C) frafda A (D) S8 & 9l

Which of the following is the problem of Indian agriculture?

(A) Low productivity (B) Fragmented
landholdings
(C)  Erratic monsoon (D) All of these

49 9Rd # HIUHE S ISATEH &F DI 27
(A) T Seer (B) P Sl
(C) e Seer (D) T A B T

Which is the most important jute producing region in India?
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(A) Gonga delta (B) Kirishna delta

(C)  Godavari delta (D) None of these
50.8Ra Hifd T &

(A) Qe e | (B) T I |

(C) < SeT ¥ (D) 3TH | ®Ig e

Green revolution is related to:
(A) Food production (B) Tea production

(C) Milk production (D) None of these

51.9HRT STAfded YRATST Hal 87?
(A) dfferrg (B) dUoE #
(C) ¥RGEs ¥ (D) o Ed ¥
Where is the Pykara hydroelectric project ?
(A) Tamil Nadu (B) Punjab
(C) Jharkhand (D) Assam

52. f=faRaa & @19 e yRa @) 93 9T 87

(A) el IRE (B) i ARy
(€) @ aR (D) AT IR
Which of the following is the river basin of western India?
(A) Mahi basin (B) Ganga basin
(C) Son basin (D) Kosi basin

53.frerferRaa & e wew wIdl IR= 87
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(A) T AR B) PO AR
(C)  Tiar afd (D) ardl IR
Which of the following is the smallest & basin?
(A) Godavari basin (B) Kirishna basin
(C) Narmada basin (D) Tapi basin
54.9Rd H yorq FWIT ol URATSTT Hel MU Bl Tg 1?
(A) RRTH (B) douadd H
(C) TR A (D) & #
Where was the first atomic power project established in India?
(A) Narora (B) Kalpakkam
(C) Tarapur (D) Kaiga

55.FRIHS! dig 3a%h &F fha g # 57

(A) FERTE (B) #ed uew

(C) IIRTES (D) ®BdATS
Noamundi iron ore region is in which state?

(A) Maharashtra (B) Madhya Pradesh
(C) Jharkhand (D) Chhattisgarh

56.f=feRaa ISt § I TiedrT B & forw ulkig 87

(A) TS (B) dfferrg

(C) =REvTs (D) Prgwr

Which of the following states is famous for Gondwana coal?
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(A) Nagaland (B) Tamil Nadu
(C)  Jharkhand (D) Tripura

57.FrferRad oAt § 9 fad 9 uq@ dd F Rerd 7 ?
(A)  RISTReIT (B) far
(C) o= (D) dfierTrg

In which of the following states are the major oil fields located?
(A) Rajasthan (B) Bihar

(C) Assam (D) Tamil Nadu

58.U=ucHTe A s il | FEid 57
(A) W (B) e
(C) ugifcram (D) dfawrse
Panchpatmali mine associated with which mineral?
(A) Gold (B) Uranium
(C) Petroleum (D) Bauxite

59 faforRaa wsal | foha® ST ARSI ol drs rafRkerd 27

(A) ST (B) WeRTR

(C) PAlcH (D) oI

In which of the following states Kaiga atomic power centre is located?
(A) Uttar Pradesh (B) Maharashtra

(C) Karnataka (D) Gujarat

60.Jerster foa w@faer & forr ufig 27
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(A) °lE FA (B) &g
(C) drar (D) ¥¥®
Bailadila is famous for which mineral?
(A) Tron ore (B) Coal
(C)  Copper (D) Mica
61.8Tell 3l yae & f[IWR &
(A) DIAGE A EGST D (B) BIadl | AfRHAIYR d®
(C) dfadRar 9 RexT & (D) SeRaT & fIga R &%

The extent of Hugli industrial region is:

(A) Kolkata to Howrah (B)

(D)

Bansberia to Risra

©

62. ISIXBAT TTT G393 fobd I=g & raferd 27

(A) uf¥=® §Tet | (B)

(C) enfsem # (D)

Rourkela steal Plant is located in which state?

(A) West Bengal (B)
(C) Odisha (D)
63.TAHET I &
(A) QTR SET (B)
(C) E@wog TN (D)

Handloom industry is:

Kolkata to Medinipur

Bansberia to Birlanager

ST H

SRETS H

Rajasthan

Jharkhand

PR ST

el

T 9 By T
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(A) Basic industry (B) Cottage industry
(C) Footloose industry (D) None of these

64. R SIS &5 Ffd e
(A) T E (B) S @
(C) (D) T A P T
Bharmaur tribal region is associated with:
(A) Gaddi (B) Masai
(C) Benda (D) None of these
65.% — e FHERT @
(A) SToWR yEed | (B) a8 uded &
(C) VuU—ydeT | (D) ARl Uee |

Niru-Miru is related to:

(A) Watershed management (B) Irrigation management
(C) Pollution management (D) Environmental
management

66. 37T IYT BT FIT BRI 2
(A) STeT 9guYT (B) eafy gquor
(C) arg ugur (D) fd wguor

What is the cause of acid rain?
(A) Water pollution (B) Noise pollution

(C) Air population (D) Land pollution
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67.9d—9r¥=H IR Siredl o

(A) Pradar dl fdeell | (B) T@ERI &I U YR

(C) PAYR Pl URI<R A (D) ReeR &7 IRE<R A

East-West corridor connects:

(A) Kolkata with Delhi (B) Guwahati with
Palanpur
(C) Kanpur with Porbandar (D) Silcher with Porbandar

68. 7N U hel &7

(A) dReTg (B) uf¥=d 9T
(C) PAlcH (D) oI
Where is Mangalore port?

(A) Tamil Nadu (B)  West Bengal
(C) Karnataka (D) Gujarat
69. WA H U ISAT BRIHH DHe TATRG G3T 1?
(A) 1936 (B) 1911
(©) 1929 (D) 1923
When was the first radio programme in India was broadcast in?
(A) 1936 (B) 1911
© 1929 (D) 1923

70.9d &5 fdebTd HRIRGH B FoATT fbU dgadia drem § gg ofi?

(A) IR (B) drel
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(C) dr=di (D) ©e
Hill Area Development Programme was initiated in which five year plan?
(A) Third (B) Fourth

(C) Fifth (D) Sixth

@e—9 / SECTION-B
oy S<RIF 929/ Short Answer Type Questions
Fo7 W& 1 § 20 G& &g ST & | §74 & [78] 10 7o & O 7/ AAD
77 @& forg 2 3 [FEiRT &/ 10 x 2 = 20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each

question carries 2 marks. 10x2 =20

. W e Y aREIE @Y | 2
Define Human geography.

2. ST YREdT & Q1 "gchl & A Ry | 2
Write the names of two components of population change.

3. folfT—ar U & AT ST 572 2
How is sex-ratio measured?

4. Aa fABr™T Jadih A MY FIT FHET 82 2
What do you mean by Human Development Index?

5. fOwga Aoy ot BN @1 fhl oR Baall & A1 IRy | 2
Write the names of any four crops of extensive commercial grain
farming.

6. B Al & MR R IR BT i HIFY | 2
Classify industries on the basis of raw materials.

7. IR UTH fhATHAI BT Iooid DHIFT | 2

Mention four quinary activities.
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8. ol =g} fb < fMidwead! va=i &1 Siredl 27 2

Suez Canal connects which two neighbouring ports?

9. favg IR HITSH & = S FT T ? 2
What is the main objective of World Trade Organisation?

10. 341071 el & fbegl =R Ufeal BT ool DI | 2
Mention any four patterns of rural settlements.

1.1 ga 1 87? 2

What is physiological density?

12.2011 &1 SIRIOET & AR ARG H Y A% At a1 87 2

What are the major occupation categories as per 2011 census of India?

13.19ae 91T A7 &S T Hebel AT AT & F H IR T PN | 2
Distinguish between Net sown Area and Grass Cropped Area
14.9RT & IR BT TR & A IRy | 2

Write the names four medieval cities of India.

15.9Rd & IR GlIg 3%h IIedh rdl & A9 forfRgu | 2

Write the names of four iron ore producing states of India

16.9RA & IR WG AMHDHI ol drai & A4 ford | 2
Write the names of four important nuclear power centres of Indie.

17.aRag= & 9 W bRI & A g | 2
Name three major modes of transportation.

18. YRT &1 b=l IR @Wh Bl & =4 {7y | 2
Write the names of any four kharif crops of India.

19.9RT & URerfl d¢ UR AR TR U=l & ™ oy | 2
Write the names of four ports located on the western coast of India.

20.7%h ATHRT AT &7 8 2 2
What is open sky policy?

e I 99 / Long Answer Type Questions
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Jo7 W& 21 H 26 T GOIg &/ 15T diT 5o @ GV &/ b & v 5

3% [T &/ 3x5=15
Question Nos. 21 to 26 are Long Answer Type. Answer any three questions.
Each question carries 5 marks. 3x5=15
2137 By a1 faRwarsit &1 aoiq I | 5
Describe the characteristics of plantation agriculture.
22 . SAifh®ra HhAUT g @1 fad=amT HIfeg | 5

Discuss the demographic transition theory.

23R AR H IR ATelfcd T A & Jg<d &I faaaeT
DI | 5

Discuss the importance of North Atlantic Ocean route in international

trade.
24 IRAT B & FHRARAT BT fAd=a=T B | 5
Discuss the problems of Indian agriculture.
25.9RA @ 3Nfd fAwrd # ASHI B YHBT BT quid DI | 5
Describe the importance of road in the economic development of India.
26.9Rd & AFRE g8 3R FrfaRad &1 gafid ST 5
(A) EXETE
(B)  P=NGHN
(C)
(D) SR
(BE)  ere’y =<t

Draw a map of India and show the following:
(A) Hyderabad

(B) Kanyakumari

(C) Gaya

(D) Jaipur
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(E) Godawari River
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